Hoja 3.1 Materas 3° ESO
Ecuaciones de primer grado

Resuelve las siguientes ecuaciones:

F&erMates

2(3x - 2)+5(x +4) = 2(4 - 3x)

3=5x

4l5x - (2x - 5)| = 2x + 4(x 1)

1-32(x-5)-7x] = 2(3x-1)

45x-6)-3(x-2)=7

8(2-x)=17-3(5x-2)

3(x-8)-8(x-6)=2(3-x)-27

- 2(x-15)=8-5(x - 20)
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13.-  5x- :g(x— 2)

14.- —Z(X_l)— x—lj:Z x—lj
21 4 2
3

15- X8 _gx-2)= (x-1)
6 12
16 2x-1)-2"1 122X
4 6
17 Sx-1)_4Bx+2) _,_x
21 16 4
5. 5(x—1)_x—3:3x—5+5(2x—4)+1
6 8 4 12
19.- 5(x+1)+2x—3:1 X
14 6 21
20.- 4x—2+7x—1:10
21 7
21 - x+1_x-1_Xx_x-2
3 6 2 12
29 . 3x—11_5x+1:x—7_1
20 12 10
g 2Ax-5)_5(2x-1) _, _34-x)
3 6 2
24 - ox+1 3x+1_8x+5
2 4 5
- 2(x-3) 3(x- ):1+x—4_(x_2)
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